0.729z1 + 0.81z2 + 0.9z3 = 0.6867

T1 + 2 + z3 = 0.8338
1.331z; + 1.21z9 + 1.1z5 = 1.000

Kozwigzamnie doklaolne
z; =0.2245, 7z, =0.2814, 3= 0.3279
Bez  Pivotingl;
0.7290 0.8100 0.9000 | 0.6867

1.000 1.000 1.000 | 0.8338
1331  1.2100 1.J00 | 1.000

Moy = 1.372

Mz = 1.826
0.7290  0.8100 0.9000 | 0.6867
0.0 —0.1110 —-0.2350 | —0.1084
0.0 —0.2690° —0.5430 | —0.2540

I_ Mas = 2.423

0.7290  0.8100  0.9000 0.6867
0.0 —0.1110 —-0.2350 | —0.1084
0.0 0.0 0.02640 | 0.008700

z1 =0.2251, zo=0.2790, 3 = 0.3295
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